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Not long ago, schoolchildren chose what they wanted to be when they
grew up, and later selected the best college they could gain admission to, spent
years gaining proficiency in their fields, and joined a company that had a need
for their skills. Careers ( A ) lifetimes.

Now, by my estimates, the half-life of a career is about 10 years. I expect
that it will decrease, within a decade, to five years. Advancing technologies
will cause so much disruption to almost every industry that entire professions
will disappear. AI(llc)l then, in about 15-20 years from now, we will be facing a
jobless future, in which most jobs are done by machines and the cost of basic
necessities such as food, energy and health care is negligible —just as the
costs of cellphone communications and information are today. We will be
entering an era of abundance in which we no longer have to work to have our

(2
basic needs met. And we will gain the freedom to pursue creative endeavors

and do the things that we really like.

I am not kidding. Change is happening so fast that our children may not
3

even need to learn how to drive. By the late 2020s, self-driving cars will have

proven to be so much safer than human-driven ones that we will be debating
whether humans should be banned from public roads; and clean energies such
as solar and wind will be able to provide for 100 percent of the planet’s energy
needs and cost a fraction of what fossil fuel- and nuclear-based generation does
today.

A question that parents often ask me is, given that these predictions are
even remotely accurate, what careers their children should pursue: whether it
is best to steer them into science, engineering, and technology (STEM) fields,
because it is these disciplines that are making the'advénces happen. The
STEM-humanities dichotomy has been a traditional difficulty for parents,
because English, psychology, history, and arts majors have been at a financial
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(B ) over the past few decades. Parents have encouraged their children to
go into fields such as finance, engineering, law and medicine, because they're
where the big money has been. ( C )

I tell them not to do what our parents did, telling us what to study and
causing us to treat education as a chore; that instead, they should encourage
their children to pursue their passions and to love learning. It doesn’t matter
whether they want to be artists, musicians, or plumbers; the key is for children
to understand that education is a lifelong endeavo% ) and to be ready to
constantly reinvent themselves.

(Partially excerpted from “Love of learning is the key to success in the

jobless future,” The Washington Post, July 27, 2015)
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(7) a situation in which something is prevented from continuing in its usual
way
(1) a situation in which something is assisted in continuing in its usual way
(% a situation in which people are fond of continuing in their normal way

{r) a situation in which people make efforts to continue in their normal way
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() advantage {1) disadvantage

(%) cost (r) production
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(7) But that is going on.
(1) But that is changing.
(%) And that predicts the future.
(r} And that is not the subject.

(7)) F#EPRA) the key I EMAANCMARTH, AEEBTEIL I N,
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Composting is a biological process in which large volumes of organic
materials are rapidly reduced. The small volumes left over, what we call
compost, then continue to decompose. One of the many benefits of adding
compost to soil is that the nutrients in the compost, though low in content, are
released slowly, making them available to plants over a long period of time.

One method of composting involves creating a pile of organic materials
and letting it stand for a year, when the compost is ready to use. The main
advantage of this method is that little work or physical effort is required to
obtain the f;il)iShEd product. Disadvantages are that space is utilized for an
entire year, some nutrients may be leached due to exposure to rainfall, and low
composting temperatures may not suppress some weed seeds, insects, and
disease-producing organisms,

A more rapid method of composting has been developed that produces
compost in ( A ) 2to 3 weeks, Extra effort is required in exchange for this

time savings, but large amounts of compost can be processed quickly in the

course of a single growing season. There are several important factors
2)

essential for producing compost quickly.

Material decomposes best if it is X4 to 1}% inches in size. Soft, succulent
tissues do not need to be chopped into very small pieces, but hard or woody
tissues should be reduced to smaller pieces in order to decompose rapidly.
Woody material can be put through a grinder or shredder, though chopping
with pruning shears or a sharp shovel is also effective. Fallen leaves can be
shredded with the lawn mower.

Composting works best if the moisture content of the pile is about 50
percent — moist, not soggy. Too much moisture slows decomposition and
produces a disagreeable odor due to the activity of methane-producing
microorganisms. If the organic material is too dry, decomposition will be very
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slow or may not occur at all.

A compost pile needs to be turned to prevent it from overheating and to
aerate and thoroughly mix the materials. If the interna?)temperature' of the
pile exceeds 160°F (71°C), the necessary microorganisms are killed, the pile
cools, and the whole process of composting must start again from the
beginning.

Turning is done to move to the center the material that is at the outer

)
edge of the pile. This way, all the material reaches the optimum temperature

at various times. Due to heat loss around the margins, only the central portion
of the pile is at the optimum temperature. Turning can be made easier if there
are two compost bins so the material can be turned from one into another.
Bins made with removable sides or slats in the front make the turning process
easier.

(Partially excerpted and adapted from “Compost in a Hurry” <http:/

anrcatalog.ucdavis.edu/publication8037>)
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(1) A: I saw your brother walking in the park yesterday.

B: ) all of his efforts to get a job, he is still out of work.
{7) Despite (1) In spite
() Because (t) Because of

(2) A: Japan relies on imports for most of its energy resources.

B: We should make better (- ) of them.
(7) value ) valuable
() using (r) use
(3) A: 1 have just heard that the plane Tim is on will arrive ( .

B: Really? What has happened to it?
(7) on time (1) out of time

)  on schedule (1) behind schedule

{(4) All things ( ), she is a fair and reliable leader.

(") considered ) to consider
{7 considering (r) consider
B ( ) Michael, he forgot to do his homework.
() As is often the case with (1) As often with the case is
) As the case is often with (r) As is the case often with
6) 1 like Mr. Smith. He gives us ( ) homework than the other
teachers.
&) few (1) fewer
(™) less (r) least
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(7) ( ) you need any more information, please call the information
desk.
) Do ¢r) Had
() Should () Would
(8) Before joining this volunteer group last week, 1 ( ) about it for
several months.
(7) am thinking 1) had been thinking
(7} thought | (r) was thinking
(9) Don't forget to post the letter, { )7
() can you (1} do you
() will you - (0 won't you
) We must discuss ( ).
) about her problems (1) her problems
(%) of her problems () to her problems
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There are so many students who study abroad now. Don’t you

think it’s a good thing?

1)5@75\&3, HPTHIETRANARMERZAS I ENTESI DI

o To be honest, though, 1 think there are some problems we
need to consider.

Oh, you do? What kind of problems?

As you know, #BEAAEBELNWADHEENETETIEN 2 TNEHE

2)
EbNTW5S X, This income gap is causing an education gap in

society. I'm worried that only the students from wealthy families

will be able to study abroad.

You are right. It seems quite unfair.(g)%'ﬁ ThHiE, fizbots
BAESIC 71— ML EBEARLVD.
Ju—)OUEERET LI, ANOBHEREZEET LI EEER
NN,

(4)

Write your answer in English to the following question in 80 to 100 words.

Imagine you are a very rich person and you have decided to give a lot of

money to help society. How will you spend your money? Give two reasons fo

explain your answer,
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